Lab 14: Chapter 10

1. In a 2009 nonscientific poll on WWW.ESPN.comf the respondents believed that
Roger Federer was going to defeat Andy Roddickthe 2009 Wimbledon Gentlemen’s ,\ ‘2!5 &
singles championship. Suppose that a survey of 150 tennis fans conducted in Europe
at the same time resulted in 118 who believed that Federer was going to win. Perform ‘ %
a hypothesis test to determine if it_ig_reasonable to conclude that the percentage o~
of all Eu prfssmlgesdaclieved that Federer‘v'?a’ggoing to win the 2009 X \

A "o, )} e TesuttrThe ESPN.com poll. Use a 2% /»
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2. Women athletes at the University of Colorado, Boulder, have a long-term graduation o = 0 ,0-‘\
rate of 67% (Source: Chronicle of Higher Education). Over the past several years,

a random sample of(48)women athletes at the school showed tha@ventuaﬂy
graduated. Does this indicate that the population proporgieiofwomen-af ~wrha
gragate fromthe University of Colorado, Boulder, is now less than 67% (U %
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3. Is the iational crime rate really going down? Some sociologists say yes! They say that
the reason for the decline in crime rates in the 1980s and 1990s is demographics. It
seems that the population is aging, and older people commit fewer crimes. According
to the FBI and the Justice Department, 70% of all arrests are of males aged 15 to
34 years. Suppose you are a sociologist in Rock Springs, Wyoming, and a random
sample of police files showed that of rrests last month, ere of males aged

15 to 34 years. Use a 1% level of significance to test the claim that the population

proportion o@i arrestsyin Rock Springs@ From 70%.
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4. A research center claims that at most 75% of U.S. adults think that drivers are safer
using hands-free cell phones instead of using hand-held cell phones. In a random
sample of 160 U.S. adults, 77% think that drivers are safer using hands-free cell

phones instead of hand-held cell phones. At o = 0.01, is there enough evidence to
reject the center’s claim?

5. When working properly, a machine that is used to make chips for calculators does not
produce more than 4% defective chips. Whenever the machine produces more than
4% defective chips, it needs an adjustment. A factory worker who works next to the
machine all day claims that the machine needs adjusting. To check if the machine is
working properly, the quality control department at the company often takes samples
of chips and inspects them to determine if they are good or defective. One such
random sample of 300 chips taken recently from the production line contained 16
defective chips. Test the factory worker’s claim that the machine is producing more
than 4% defective chips. Use a level of significance equal to 1%.



| @ P = fhe achal b /L E\Arﬁigﬂm ‘)Yé\“\mi
»@ms U)\Ty\o J(\‘Ohﬁpf gad\z&r \,P"\

\»a3 50\:\‘-’) ‘o win,

/

N = ISO PQC,P[Q
X = the birom. RV

e V\v\m'b@f o}\ PQOP\Q
Wl “\’\\evﬁ\\-\' 'C edorer

w3\ "\




Steed | [Ue Can OsSumt J(LE f"‘"“w“;)
d\.s\c (& ’(‘) 1S a?erox hofm&\/

bw t Jd’\l DFO\AM\ do@//\\" I\d\cdﬂ
w\&*\\u Phe sample wer oo

Sa I"\P\.(
TM St /v\‘)\j 0/ m S“} a"}u’hc

—Tlfﬂ Ye st 5*@’(\”3)1\‘% 15 XY\N -5 U ﬂ;@‘{



£ 3\\;(0 \O\'J the Yormia

?/?O Of‘é l/S
= =
b (1-6)

/
)

Useqd " o Mo\ﬁu,\n e J1sT ance

beXeen 7 ard P (m chmeTin er)

7 - 0.1 - 0.1 _ 30188 =
M ,\ASQ a m
> - prap-Z -test
o ‘f)d' Has Valve
and P'Vc.\“a







The problen Saye et 2 =0.02

’HM & Y nol @quﬁa% b
E\xm“x@o’\ bars e Sa1d

?éﬁ(/\\ﬂ,&/ pvas @(ﬂmy %O
i,\/\“/\ lS ﬁ/\Wj\r\l( “\'\V\I\ 6—]6/0'










N (\/Qo) ~Y¢ (\ - c)-(ﬂ)é

(éo’n\ <ong 'S C"\Q‘“k




Cr**é Since Xht 6’»\/0\\ < X
y

tey o
w'ﬂr&rﬁ S COI\V\M.\J\\ $a \Q QV.\J(N,(
,\—\Me( %\A au.)w-\\ o/o 0’(‘ \,JOrLn GA(\\\Q*QS
e e

S\






Clncg W o l ’\’6\1\(’4 1’(3“)(

G.\d |zconst A\L\Q &anp\ﬂ 3{()(,5%“
s crane e (o Ba) 6 Ao pval

A
‘)’V(A\ _ g ‘ P P 70-15, (uyuq.‘ “Zo:id>

- [aann;

o






Lab 14: Chapter 10

1. In a 2009 nonscientific poll on www.ESPN.com, 67% of the respondents believed that
Roger Federer was going to defeat Andy Roddick in the 2009 Wimbledon Gentlemen’s
singles championship. Suppose that a survey of 150 tennis fans conducted in Europe
at the same time resulted in 118 who believed that Federer was going to win. Perform
a hypothesis test to determine if it is reasonable to conclude that the percentage
of all European tennis fans who believed that Federer was going to win the 2009
championship was higher than 67%, the result in the ESPN.com poll. Use a 2%
significance level.

2. Women athletes at the University of Colorado, Boulder, have a long-term graduation
rate of 67% (Source: Chronicle of Higher Education). Over the past several years,
a random sample of 48 women athletes at the school showed that 26 eventually
graduated. Does this indicate that the population proportion of women athletes who

graduate from the University of Colorado, Boulder, is now less than 67%7? Use a 5%
level of significance.

3. Is the national crime rate really going down? Some sociologists say yes! They say that
the reason for the decline in crime rates in the 1980s and 1990s is demographics. It
seems that the population is aging, and older people commit fewer crimes. According
to the FBI and the Justice Department, 70% of all arrests are of males aged 15 to
34 years. Suppose you are a sociologist in Rock Springs, Wyoming, and a random
sample of police files showed that of 36 arrests last month, 27 were of males aged
15 to 34 years. Use a 1% level of significance to test the claim that the population
proportion of such arrests in Rock Springs is different from 70%.
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4. A research center claims that af U.s. adults think that drivers are safer
using hands-free cell phones instead of using hand-held cell phones. In a Tandom

sample of 160 U.S. adults, 77% think that driyers are safer silg hands-free cell
phones instead of hand-held cell phones. As there enough evidence to
reject the center’s claim?
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5. When working properly, a machine that is used to make chips for calculators does not
produce more than 4% defective chips. Whenever the machine produces more than
4% defective chips, it needs an adjustment. A factory worker who works next to the
machine all day claims that the machine needs adjusting. To check if the machine is
working properly, the quality control department at the company often takes samples
of chips and inspects them to determine if they are good or defective. One such
random sample of 300 chips taken recently from the production line contained 16
defective chips. Test the factory worker’s claim that the machine is producing more
than 4% defective chips. Use a level of significance equal to 1%.
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